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minimize —600x; — 500x9

subject to —3x1 — lza > —45000
—Xr1 — 2582 2 —40000
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minimize —600x; — 500x9

SUbjeCt to 3x1 + lzo + x3 = 45000
lx1 + 229 + 24 = 40000
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minimize 2z

subject to

z + 600x7 + 50029 =0
3r1+1lxo+1xs = 45000
lx142x5 +1x4= 40000
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L1y XL2,L3,L4 2 0
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(2,73, 24) = (0,45000, 40000)
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minimize 2z
51 subject to
3rxi1+1xo+1lxs = 45000
lx14+2x5 +1x4= 40000
T1,%2,23,4 =0
2z 4+ 600x1 + 50029 =0
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ANV E:
z X X X5 x| B mANEINZE
O 3 1 1 045000 x1/3
1 2 0 140000
1 600 500 0 0 0
FTLWEREZHICEAL GEIL AR ZAEL
ANV E:
z X X X x| B mANEINZE
w1 ( 0 1 1/3 1/3 015000
0 1 2 0 140000 D— X 600
1 600 500 0 0 0
z X X X x. | B mANEBEINN=
0 1 1/3 1/3 015000
0 0O 5/3 -1/3 125000

1 0 300 -200 0 -9E6
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